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Lampiran 1. Output SPSS 
 
Descriptives 

Notes 

Output Created 06-AUG-2025 23:54:19 

Comments  

Input Active Dataset DataSet3 

Filter <none> 

Weight <none> 

Split File <none> 

N of Rows in Working Data 

File 

40 

Missing Value Handling Definition of Missing User defined missing values 

are treated as missing. 

Cases Used All non-missing data are 

used. 

Syntax DESCRIPTIVES 

VARIABLES=X1 X2 X3 Y 

  /STATISTICS=MEAN 

STDDEV MIN MAX. 

Resources Processor Time 00:00:00,02 

Elapsed Time 00:00:00,03 

 

Descriptive Statistics 

 N Minimum Maximum Mean Std. Deviation 

Transfer Pricing 40 ,00 89,05 29,6958 28,97197 

Leverage 40 5,29 75,25 37,4850 18,01325 

Capital Intensity 40 1,16 58,69 26,1965 14,54312 

Tax Avoidance 40 ,00 46,30 18,3893 8,36246 

Valid N (listwise) 40     

 
 
 



  
 

Regression 

Notes 

Output Created 06-AUG-2025 23:57:10 

Comments  

Input Active Dataset DataSet3 

Filter <none> 

Weight <none> 

Split File <none> 

N of Rows in Working Data 

File 

40 

Missing Value Handling Definition of Missing User-defined missing values 

are treated as missing. 

Cases Used Statistics are based on cases 

with no missing values for 

any variable used. 

Syntax REGRESSION 

  /MISSING LISTWISE 

  /STATISTICS COEFF 

OUTS BCOV R ANOVA 

COLLIN TOL 

  /CRITERIA=PIN(.05) 

POUT(.10) 

TOLERANCE(.0001) 

  /NOORIGIN 

  /DEPENDENT Y 

  /METHOD=ENTER X1 X2 

X3 

  /SCATTERPLOT=(*SRESID 

,*ZPRED) 

  /RESIDUALS DURBIN 

NORMPROB(ZRESID) 

  /SAVE RESID. 

Resources Processor Time 00:00:04,13 

Elapsed Time 00:00:10,70 

Memory Required 3680 bytes 

Additional Memory Required 

for Residual Plots 

520 bytes 

Variables Created or Modified RES_1 Unstandardized Residual 

 

 
  



  
 

Variables Entered/Removeda 

Model 

Variables 

Entered 

Variables 

Removed Method 

1 Capital Intensity, 

Leverage, 

Transfer Pricingb 

. Enter 

 

a. Dependent Variable: Tax Avoidance 

b. All requested variables entered. 

 

Model Summaryb 

Model R R Square 

Adjusted R 

Square 

Std. Error of the 

Estimate Durbin-Watson 

1 ,466a ,217 ,152 7,70288 1,167 

 

a. Predictors: (Constant), Capital Intensity, Leverage, Transfer Pricing 

b. Dependent Variable: Tax Avoidance 

 

ANOVAa 

Model Sum of Squares df Mean Square F Sig. 

1 Regression 591,261 3 197,087 3,322 ,030b 

Residual 2136,036 36 59,334   

Total 2727,297 39    

 

a. Dependent Variable: Tax Avoidance 

b. Predictors: (Constant), Capital Intensity, Leverage, Transfer Pricing 

 

Coefficientsa 

Model 

Unstandardized Coefficients 

Standardized 

Coefficients 

t Sig. B Std. Error Beta 

1 (Constant) 19,712 3,697  5,332 ,000 

Transfer Pricing ,031 ,044 ,107 ,702 ,487 

Leverage -,175 ,071 -,376 -2,469 ,018 

Capital Intensity ,165 ,085 ,286 1,939 ,060 

 

  



  
 

Coefficientsa 

Model 

Collinearity Statistics 

Tolerance VIF 

1 (Constant)   

Transfer Pricing ,936 1,069 

Leverage ,936 1,069 

Capital Intensity ,999 1,001 

 

a. Dependent Variable: Tax Avoidance 

 

Coefficient Correlationsa 

Model Capital Intensity Leverage Transfer Pricing 

1 Correlations Capital Intensity 1,000 ,011 ,020 

Leverage ,011 1,000 -,253 

Transfer Pricing ,020 -,253 1,000 

Covariances Capital Intensity ,007 6,818E-5 7,477E-5 

Leverage 6,818E-5 ,005 -,001 

Transfer Pricing 7,477E-5 -,001 ,002 

 

a. Dependent Variable: Tax Avoidance 

 

Collinearity Diagnosticsa 

Model Dimension Eigenvalue Condition Index 

Variance Proportions 

(Constant) Transfer Pricing Leverage 

1 1 3,328 1,000 ,01 ,03 ,01 

2 ,405 2,866 ,01 ,80 ,00 

3 ,193 4,148 ,01 ,17 ,44 

4 ,073 6,738 ,97 ,00 ,54 

 

Collinearity Diagnosticsa 

Model Dimension 

Variance Proportions 

Capital Intensity 

1 1 ,02 

2 ,13 

3 ,48 

4 ,37 

 

a. Dependent Variable: Tax Avoidance 

 

 
  



  
 

Residuals Statisticsa 

 Minimum Maximum Mean Std. Deviation N 

Predicted Value 10,0729 28,9486 18,3893 3,89365 40 

Std. Predicted Value -2,136 2,712 ,000 1,000 40 

Standard Error of Predicted 

Value 

1,353 3,698 2,350 ,651 40 

Adjusted Predicted Value 7,6922 29,9542 18,4861 4,08227 40 

Residual -16,29023 21,79002 ,00000 7,40069 40 

Std. Residual -2,115 2,829 ,000 ,961 40 

Stud. Residual -2,179 3,154 -,006 1,035 40 

Deleted Residual -17,28799 27,08327 -,09682 8,60905 40 

Stud. Deleted Residual -2,306 3,655 -,001 1,094 40 

Mahal. Distance ,228 8,012 2,925 2,091 40 

Cook's Distance ,000 ,604 ,043 ,105 40 

Centered Leverage Value ,006 ,205 ,075 ,054 40 

 

a. Dependent Variable: Tax Avoidance 

 
 
Charts 
 

 

 
 

 



  
 

 
 
NPar Tests 

Notes 

Output Created 06-AUG-2025 23:58:28 

Comments  

Input Active Dataset DataSet3 

Filter <none> 

Weight <none> 

Split File <none> 

N of Rows in Working Data 

File 

40 

Missing Value Handling Definition of Missing User-defined missing values 

are treated as missing. 

Cases Used Statistics for each test are 

based on all cases with valid 

data for the variable(s) used 

in that test. 

Syntax NPAR TESTS 

  /K-S(NORMAL)=RES_1 

  /MISSING ANALYSIS 

  /KS_SIM CIN(99) 

SAMPLES(10000). 

Resources Processor Time 00:00:00,13 

Elapsed Time 00:00:00,13 

Number of Cases Alloweda 786432 

 

a. Based on availability of workspace memory. 



  
 

 

One-Sample Kolmogorov-Smirnov Test 

 

Unstandardized 

Residual 

N 40 

Normal Parametersa,b Mean ,0000000 

Std. Deviation 7,40068564 

Most Extreme Differences Absolute ,130 

Positive ,096 

Negative -,130 

Test Statistic ,130 

Asymp. Sig. (2-tailed)c ,086 

Monte Carlo Sig. (2-tailed)d Sig. ,084 

99% Confidence Interval Lower Bound ,077 

Upper Bound ,091 

 

a. Test distribution is Normal. 

b. Calculated from data. 

c. Lilliefors Significance Correction. 

d. Lilliefors' method based on 10000 Monte Carlo samples with starting seed 334431365. 

 

 

 

  



  
 

Hasil Transform 

 
COMPUTE LAG_RES=LAG(RES_1). 

EXECUTE. 

REGRESSION 

  /MISSING LISTWISE 

  /STATISTICS COEFF OUTS R ANOVA 

  /CRITERIA=PIN(.05) POUT(.10) 

  /NOORIGIN 

  /DEPENDENT RES_1 

  /METHOD=ENTER LAG_RES. 

 
Regression 

Notes 

Output Created 10-AUG-2025 13:41:47 

Comments  

Input Data E:\Downloads\DATA 

SKRIPSI\Ramayanti_Input 

SPSS_Final Pakai EDIT.sav 

Active Dataset DataSet1 

Filter <none> 

Weight <none> 

Split File <none> 

N of Rows in Working Data 

File 

40 

Missing Value Handling Definition of Missing User-defined missing values 

are treated as missing. 

Cases Used Statistics are based on cases 

with no missing values for 

any variable used. 

Syntax REGRESSION 

  /MISSING LISTWISE 

  /STATISTICS COEFF 

OUTS R ANOVA 

  /CRITERIA=PIN(.05) 

POUT(.10) 

  /NOORIGIN 

  /DEPENDENT RES_1 

  /METHOD=ENTER 

LAG_RES. 

Resources Processor Time 00:00:00,00 

Elapsed Time 00:00:00,02 

Memory Required 1540 bytes 



  
 

Additional Memory Required 

for Residual Plots 

0 bytes 

 

Variables Entered/Removeda 

Model 

Variables 

Entered 

Variables 

Removed Method 

1 LAG_RESb . Enter 

 

a. Dependent Variable: Unstandardized Residual 

b. All requested variables entered. 

 

Model Summary 

Model R R Square 

Adjusted R 

Square 

Std. Error of the 

Estimate 

1 .407a .166 .143 6.90772199 

 

a. Predictors: (Constant), LAG_RES 

 

ANOVAa 

Model Sum of Squares df Mean Square F Sig. 

1 Regression 351.049 1 351.049 7.357 .010b 

Residual 1765.515 37 47.717   

Total 2116.564 38    

 

a. Dependent Variable: Unstandardized Residual 

b. Predictors: (Constant), LAG_RES 

 

Coefficientsa 

Model 

Unstandardized Coefficients 

Standardized 

Coefficients 

t Sig. B Std. Error Beta 

1 (Constant) -.041 1.106  -.037 .971 

LAG_RES .410 .151 .407 2.712 .010 

 

a. Dependent Variable: Unstandardized Residual 

 
COMPUTE LAG_X1=X1-(0.410*LAG(X1)). 

EXECUTE. 

COMPUTE LAG_X2=X2-(0.410*LAG(X2)). 

EXECUTE. 

COMPUTE LAG_X3=X3-(0.410*LAG(X3)). 

EXECUTE. 

COMPUTE LAG_Y=Y-(0.410*LAG(Y)). 



  
 

EXECUTE. 

REGRESSION 

  /MISSING LISTWISE 

  /STATISTICS COEFF OUTS R ANOVA 

  /CRITERIA=PIN(.05) POUT(.10) 

  /NOORIGIN 

  /DEPENDENT LAG_Y 

  /METHOD=ENTER LAG_X1 LAG_X2 LAG_X3 

  /RESIDUALS DURBIN. 

 
Regression 

Notes 

Output Created 10-AUG-2025 13:46:54 

Comments  

Input Data E:\Downloads\DATA 

SKRIPSI\Ramayanti_Input 

SPSS_Final Pakai EDIT.sav 

Active Dataset DataSet1 

Filter <none> 

Weight <none> 

Split File <none> 

N of Rows in Working Data 

File 

40 

Missing Value Handling Definition of Missing User-defined missing values 

are treated as missing. 

Cases Used Statistics are based on cases 

with no missing values for 

any variable used. 

Syntax REGRESSION 

  /MISSING LISTWISE 

  /STATISTICS COEFF 

OUTS R ANOVA 

  /CRITERIA=PIN(.05) 

POUT(.10) 

  /NOORIGIN 

  /DEPENDENT LAG_Y 

  /METHOD=ENTER 

LAG_X1 LAG_X2 LAG_X3 

  /RESIDUALS DURBIN. 

Resources Processor Time 00:00:00,02 

Elapsed Time 00:00:00,04 

Memory Required 2180 bytes 



  
 

Additional Memory Required 

for Residual Plots 

0 bytes 

 

Variables Entered/Removeda 

Model 

Variables 

Entered 

Variables 

Removed Method 

1 LAG_X3, 

LAG_X2, 

LAG_X1b 

. Enter 

 

a. Dependent Variable: LAG_Y 

b. All requested variables entered. 

 

Model Summaryb 

Model R R Square 

Adjusted R 

Square 

Std. Error of the 

Estimate Durbin-Watson 

1 .618a .382 .329 6.91010 1.759 

 

a. Predictors: (Constant), LAG_X3, LAG_X2, LAG_X1 

b. Dependent Variable: LAG_Y 

 

ANOVAa 

Model Sum of Squares df Mean Square F Sig. 

1 Regression 1034.131 3 344.710 7.219 .001b 

Residual 1671.233 35 47.750   

Total 2705.364 38    

 

a. Dependent Variable: LAG_Y 

b. Predictors: (Constant), LAG_X3, LAG_X2, LAG_X1 

 

Coefficientsa 

Model 

Unstandardized Coefficients 

Standardized 

Coefficients 

t Sig. B Std. Error Beta 

1 (Constant) 11.683 2.422  4.824 .000 

LAG_X1 .056 .048 .157 1.177 .247 

LAG_X2 -.248 .063 -.523 -3.921 .000 

LAG_X3 .232 .094 .328 2.464 .019 

 

a. Dependent Variable: LAG_Y 



  
 

 

Residuals Statisticsa 

 Minimum Maximum Mean Std. Deviation N 

Predicted Value -1.9530 23.1523 10.8930 5.21670 39 

Residual -16.10377 17.12886 .00000 6.63173 39 

Std. Predicted Value -2.462 2.350 .000 1.000 39 

Std. Residual -2.330 2.479 .000 .960 39 

 

a. Dependent Variable: LAG_Y 

 
 

SAVE OUTFILE='E:\Downloads\DATA SKRIPSI\Ramayanti_Input SPSS_Final 

Pakai EDIT_Transform '+ 

    'Autokorelasi.sav' 

  /COMPRESSED. 

GET 

  FILE='E:\Downloads\DATA SKRIPSI\Ramayanti_Input SPSS_Final Pakai 

EDIT.sav'. 

DATASET NAME DataSet2 WINDOW=FRONT. 

COMPUTE ABS=ABS(RES_1). 

EXECUTE. 

DATASET CLOSE DataSet1. 

REGRESSION 

  /MISSING LISTWISE 

  /STATISTICS COEFF OUTS R ANOVA 

  /CRITERIA=PIN(.05) POUT(.10) 

  /NOORIGIN 

  /DEPENDENT ABS 

  /METHOD=ENTER X1 X2 X3. 

 
Regression 

Notes 

Output Created 10-AUG-2025 15:25:11 

Comments  

Input Data E:\Downloads\DATA 

SKRIPSI\Ramayanti_Input 

SPSS_Final Pakai EDIT.sav 

Active Dataset DataSet2 

Filter <none> 

Weight <none> 

Split File <none> 

N of Rows in Working Data 

File 

40 

Missing Value Handling Definition of Missing User-defined missing values 

are treated as missing. 



  
 

Cases Used Statistics are based on cases 

with no missing values for 

any variable used. 

Syntax REGRESSION 

  /MISSING LISTWISE 

  /STATISTICS COEFF 

OUTS R ANOVA 

  /CRITERIA=PIN(.05) 

POUT(.10) 

  /NOORIGIN 

  /DEPENDENT ABS 

  /METHOD=ENTER X1 X2 

X3. 

Resources Processor Time 00:00:00,09 

Elapsed Time 00:00:00,44 

Memory Required 2092 bytes 

Additional Memory Required 

for Residual Plots 

0 bytes 

 

Variables Entered/Removeda 

Model 

Variables 

Entered 

Variables 

Removed Method 

1 Capital Intensity, 

Leverage, 

Transfer Pricingb 

. Enter 

 

a. Dependent Variable: ABS 

b. All requested variables entered. 

 

Model Summary 

Model R R Square 

Adjusted R 

Square 

Std. Error of the 

Estimate 

1 .352a .124 .051 4.59720 

 

a. Predictors: (Constant), Capital Intensity, Leverage, Transfer Pricing 

 

ANOVAa 

Model Sum of Squares df Mean Square F Sig. 

1 Regression 107.894 3 35.965 1.702 .184b 

Residual 760.832 36 21.134   

Total 868.726 39    



  
 

 

a. Dependent Variable: ABS 

b. Predictors: (Constant), Capital Intensity, Leverage, Transfer Pricing 

 

Coefficientsa 

Model 

Unstandardized 

Coefficients 

Standardized 

Coefficients 

t Sig. B Std. Error Beta 

1 (Constant) 7.040 2.206  3.191 .003 

Transfer Pricing .047 .026 .290 1.796 .081 

Leverage -.028 .042 -.108 -.671 .507 

Capital Intensity -.067 .051 -.206 -1.320 .195 

 

a. Dependent Variable: ABS 

 

  



  
 

Lampiran 2. Tabel Uji Durbin Watson (DW), α = 5% 

 



  
 

Lampiran 3. Tabel Uji T 

 
  



  
 

Lampiran 4. Tabel Uji F 

 
  



  
 

Lampiran 5. Uji Similarity 

 

 
  



  
 



  
 



  
 



  
 



  
 



  
 



  
 



  
 

 


